Year 10 SDME Mock Paper Mark Scheme
1)

A logo or an emblem is something which is clearly recognisable (1) and the size of many MNCs mean that their icons / emblems are recognisd by many people (1)
The logo or emblem is usually designed to represent the ethos branding that the multinational wants to be associated with (1).  Advertising campaigns and promotions are used to reinforce this (1)

2)

Level 1:

One way in which NICs encourage industrial development (1)

Two ways in which NICs encourage industrial development (1)

Level 2:

One way in which NICs encourage industrial development, explained to say why it would encourage a MNC to locate there (3)

Two ways in which NICs encourage industrial development, explained to say why they would encourage a MNC to locate there (4)

3)
Level 1:

One advantage selected from resource 3 (1)

One disadvantage selected from resource 3 (1)

Level 2:

Either an advantage or disadvantage selected from resource 3 with justification for why it is the most important (3)

Both an advantage or disadvantage selected from resource 3 with justification for why it is the most important (4)

4)
Level 1:

One success or problem identified from resource 4 (1)
A success and problem identified from resource 4 (2)

Level 2:

One success or problem identified from resource 4 with development to say why it’s a success / problem (3)
A success and a problem identified from resource 4 with development to say why it’s a success / problem (4)

Level 3:

An explanation of a success or problem with links to local, national or national scales (5)

An explanation of both a success and a problem with links to local, national or national scales (6)

5)
Level 1 (1-3 marks)

Gives at least one valid example of responsibility by Unilever or irresponsibility by Coca Cola.  Demonstrates limited relevant knowledge and information.  Simple statements used e.g. Unilever are responsible, they give family accommodation for employees on a tea estate in southern India.  Written work contains mistakes in spelling, and grammar which sometimes hinder communication.
Level 2 (4-6 marks)
Gives at least one valid example of responsibility by Unilever and irresponsibility by Coca Cola.  Develops these statements to compare their impacts or considers basic views of stakeholders.  For example Unilever are responsible, they give family accommodation for employees on a tea estate in southern India.  This benefits both employees and their families by providing them somewhere that this safe and secure to live.  It is also likely that this will be close to their workplace. In comparison Coca-Cola…

For 6 marks needs more that one example of responsibility / irresponsibility with impacts / points of view of stakeholders.

Level 3 (7-8 marks)

Gives more than one valid example of responsibility by Unilever and irresponsibility by Coca Cola.  Develops these statements to compare their impacts and considers the points of view of different stakeholders.  High quality of written communication and demonstrates clear use of the source.

For example Unilever are responsible, they give family accommodation for employees on a tea estate in southern India.  This benefits both employees and their families by providing them somewhere that this safe and secure to live.   It is also likely that this will be close to their workplace. Employees as stakeholders would be happy about this, although it might be less pleasing to the Multinationals directors due to the costs involved. In comparison Coca-Cola…

6)

Level 1 (1-4marks) 
Explains one or more reasons for choice with detail in one or more reasons. Limited grasp of issues facing Fait shown and only limited development of both choice and reasons for rejecting other options. Written work contains mistakes in spelling, and grammar which sometimes hinder communication.

Level 2 [5-8 marks] Develops one reason for choice as well as rejecting one or two of the other three options. Development with valid detail in at least one reason. Written work is legible and spelling and grammar are mostly accurate. Meaning is communicated with limited clarity.

Level 3 [9-12 marks] Developed explanation of choice as well as valid attempt at discussion of why two stakeholders would not support chosen option with detail in one explanation.  An explanation of who the winners and losers will be based on chosen decision. Written work is legible and spelling, grammar and punctuation are accurate. Meaning is communicated clearly. Use of appropriate geographical terminology.

Level 4 [13-16 marks] Thorough development in both reasons for choosing option. Clear and well communicated development on reasons for rejecting other three options. A variety of explanations for who the winners and losers will be based on chosen decision.  Relevent and valid reasons given for why some stakeholders may prefer a different option.  Written work is legible and spelling, grammar and punctuation are very accurate and meaning very clearly communicated. Good use of geographical terminology.

